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BOOKS - S DINESH & CO BIOLOGY
(HINGLISH)

THE LIVING WORLD

Multiple Choice Questions

1. Maintenace of favourable internal

environment of living beings is called


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_8H2UvLitYmQu

A. Homeostasis

B. Metabolism

C. Adaptation

D. Irritability

Answer: A

o Watch Video Solution

2. Changes in structure and function of living

beings with age are


https://dl.doubtnut.com/l/_8H2UvLitYmQu
https://dl.doubtnut.com/l/_KlFoTbzEhBB6

A. Adaptations

B. Order

C. Metabolism

D. Development

Answer: D

o Watch Video Solution

3. A fundamental requirement of every living

organism is


https://dl.doubtnut.com/l/_KlFoTbzEhBB6
https://dl.doubtnut.com/l/_SrQqsT0Yl77q

A. Evolution

B. Order

C. Energy

D. Growth

Answer: C

° Watch Video Solution

4. Growth, development and functioning of

living body is due to


https://dl.doubtnut.com/l/_SrQqsT0Yl77q
https://dl.doubtnut.com/l/_vVT4q6Ey8yT6

A. Order

B. Homeostasis

C. Metabolism

D. Adaptations

Answer: C

o Watch Video Solution

5. Living and non-living objects of nature

A. Have similar materials


https://dl.doubtnut.com/l/_vVT4q6Ey8yT6
https://dl.doubtnut.com/l/_aRj9heB1mSNP

B. Obey same physico-chemical laws

C.Both Aand B

D. Have same materials but obey different

physico-chemical and biochemical laws

Answer: C

o Watch Video Solution

6. The most abundant 6 elements found in

living beings are


https://dl.doubtnut.com/l/_aRj9heB1mSNP
https://dl.doubtnut.com/l/_B1wuItJ25utk

A.C,H,N,O,PandS

B.C, H, N, O,Ca and Na

C.C, H, O,K,Na and Mg

D. C, Ca, O, H, Mg and Mn

Answer: A

o Watch Video Solution

7. The six major elements constitute body

Mmass


https://dl.doubtnut.com/l/_B1wuItJ25utk
https://dl.doubtnut.com/l/_2N6rID56GP7V

A. 0.85

B.0.92

C.0.98

D. 0.994

Answer: C

o Watch Video Solution

8. Strength of a cellulose microfibril is due of


https://dl.doubtnut.com/l/_2N6rID56GP7V
https://dl.doubtnut.com/l/_4EqlFYhOhqNz

A.Strong numerous covalent bonds

amongst different molecules

B.Numerous weak hydrogen bonds

amongst adjacent cellulose molecules

C.Numerous strong ionic amongst

cellulose molecules

D. All the above

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_4EqlFYhOhqNz
https://dl.doubtnut.com/l/_5EfVLGEbkL9Q

9. Chemical signals to brain by receptor

molecules establish

A. Weak bonds

B. Strong bonds

C. Permanent bonds

D.Both B and C

Answer: A

O Watch Video Solution



https://dl.doubtnut.com/l/_5EfVLGEbkL9Q
https://dl.doubtnut.com/l/_YhHq5YX1riSI

10. Receptor molecules transmitting signals to

brain separate

A. After initiation of response

B. Before initiation of response

C. Before completion of response

D. After completion of response.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_YhHq5YX1riSI

11. Hydrogen bonds amongst water molecules

have bestowed the property of

A. Liquid with ability to flow

B. High viscosity, high specific heat and

high heat of vaporisation

C.High boiling point and low freezing

point

D. All the above

Answer: D



https://dl.doubtnut.com/l/_EbFkfFUbX0Mj

I QP Watch Video Solution

12. Water remains liquid between

A.4° to90°C

B.—4°C to 100°C

C.—10°C to 110°

D.60° to 160°C

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_EbFkfFUbX0Mj
https://dl.doubtnut.com/l/_2g8khw5StUa8

13. Life originated in

A. Lithosphere

B. Hydrosphere

C. Atmosphere

D. All the above

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_XLtb8o2zmweI

14. Percentage of water in the body of a living

being like human is

A.10 — 20 %

B.50 %

C.70 — 80 %

D.90 — 95 %

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_FxemOBkFH74a
https://dl.doubtnut.com/l/_BktmzI4c2UAX

15.In contact with water, phospholipids form

A. Rounded aggregates
B. Monolayer
C. Bilayer

D. All the above

Answer: C

° Watch Video Solution

16. Water has


https://dl.doubtnut.com/l/_BktmzI4c2UAX
https://dl.doubtnut.com/l/_nTqgPgMBHSyS

A.High surface tension and low thermal

conductivity

B. Low surface tension and low thermal

C. High surface tension and high thermal

conductivity

D. High surface tension and low thermal

conductivity

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_nTqgPgMBHSyS
https://dl.doubtnut.com/l/_XMDg4919jVDu

17. In living system water is involved as a

chemical in

A. Photosynthesis and respiration

B. Synthesis of polymers

C. Hydrolysis of bicohemicals

D. All the above

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_XMDg4919jVDu
https://dl.doubtnut.com/l/_VJz5Q5rZpPTK

18. Water is reagent in

A. Respiration

B. Photosynthesis

C. Nerve conduction

D. Glycogenesis

Answer: B

° Watch Video Solution

19. Water is end product in


https://dl.doubtnut.com/l/_VJz5Q5rZpPTK
https://dl.doubtnut.com/l/_Bu4n4FaL3pe7

A. Glycogenolysis

B. Hydrostatic skeleton

C. Respiration

D. Carbon assimilation

Answer: C

o Watch Video Solution

20. Assertion : DNA is associated with proteins.

Reason : DNA binds around histone proteins


https://dl.doubtnut.com/l/_Bu4n4FaL3pe7
https://dl.doubtnut.com/l/_jGv8qJgpBy4Y

that form a pool and the entire structure is

called a nucleosome.

A. Lipids

B. Sugars

C. Zymogens

D. Water

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_jGv8qJgpBy4Y

21. All cells use energy

A.Radiant energy

B. Chemical energy

C. Thermal energy

D. Mechanical energy

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_3y2p6PtotKzr

22, Stored energy is

A. Kinetic energy

B. Activation energy

C. Potential energy

D. Free energy

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_vo8SuPudVC6I

23. Wherever stored energy is present, the

potential exists for

A. Work

B. Entropy

C. Exchange of materials with environment

D. All the above

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_B9HStBjzgSKq
https://dl.doubtnut.com/l/_gkPPR6ofeyKe

24. In biological system flow of energy occurs

through

A. Loss of electrons

B. Gain of electrons

C.Both Aand B

D. Photons

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_gkPPR6ofeyKe

25. Total energy present in a biological system

is called

A. Kinetic energy

B. Activation energy

C. Entropy

D. Enthalpy

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_uHxMpQDmFdLS
https://dl.doubtnut.com/l/_cuUt7fnBGyR5

26. To start, every biochemical reaction is

A. Exergonic

B. Endergonic

C.Both Aand B

D. None of the above

Answer: B

° Watch Video Solution

27. Activation energy is required for


https://dl.doubtnut.com/l/_cuUt7fnBGyR5
https://dl.doubtnut.com/l/_I8MtSP2w9kEh

A. Bringing reactants together

B. Destablisation of bonds of reactants

C.Both Aand B

D. None of the above

Answer: C

o Watch Video Solution

28. Spontaneous reactions are

A. Endergonic


https://dl.doubtnut.com/l/_I8MtSP2w9kEh
https://dl.doubtnut.com/l/_QlNHutuvvV1q

B. Exergonic

C. Energy neutral

D. Exer-endergonic reactions

Answer: B

o Watch Video Solution

29. Entropy is

A. Orderliness

B. Randomness


https://dl.doubtnut.com/l/_QlNHutuvvV1q
https://dl.doubtnut.com/l/_dNYsSin9Dsyb

C. Catabolism

D. Anabolism

Answer: B

o Watch Video Solution

30. Entropy develops due to

A. Dissipation of Energy

B. Collision of particles

C. Breakage of linkages


https://dl.doubtnut.com/l/_dNYsSin9Dsyb
https://dl.doubtnut.com/l/_9szAlnrI10hv

D. All the above

Answer: D

° Watch Video Solution

31. Universe is

A. Closed system
B. Open system
C. Receiving constant supply of energy

D. Dissipating energy continously


https://dl.doubtnut.com/l/_9szAlnrI10hv
https://dl.doubtnut.com/l/_TZbFmX8KTJFu

Answer: A

o Watch Video Solution

32. Energy trabsfers or transformations are

never 100 % efficient. This is due to

A. Entropy

B. Homeostasis

C. Aggregation

D. Adaptations


https://dl.doubtnut.com/l/_TZbFmX8KTJFu
https://dl.doubtnut.com/l/_9u7X02EDB7EU

Answer: A

o Watch Video Solution

33. Steady state is represented by

A. Getting raw materials

B. Intake of food and energy

C.Intake of materical and energy,

elimination of wastes and dissipation of

energy


https://dl.doubtnut.com/l/_9u7X02EDB7EU
https://dl.doubtnut.com/l/_sSdorplxki8O

D. Removal of waste products and intake of

raw materials

Answer: C

o Watch Video Solution

34. An example of destructive metabolism

(catabolism) is

A. Photosynthesis

B. Respiration


https://dl.doubtnut.com/l/_sSdorplxki8O
https://dl.doubtnut.com/l/_t3YMecSEvhqn

C. Glycogenesis

D.Both B and C

Answer: B

o Watch Video Solution

35. Anabolism is

A. Sum total of metabolic reactions

B. Destructive metabolism

C. Constructive metabolism


https://dl.doubtnut.com/l/_t3YMecSEvhqn
https://dl.doubtnut.com/l/_9ShM8pbX1t0Z

D. Glycogenolysis

Answer: C

° Watch Video Solution

36. Photosynthesis is an example of

A. Anabolism

B. Breakdown reactions

C. Catabolism

D. Exergonic reactions


https://dl.doubtnut.com/l/_9ShM8pbX1t0Z
https://dl.doubtnut.com/l/_7xRQ0K8XxBIJ

Answer: A

o Watch Video Solution

37. A major regulatory mechanism for

multistep reaction is

A. Presence of inhibitors

B. Availability of activators

C. Feed-back mechanism

D. All the above


https://dl.doubtnut.com/l/_7xRQ0K8XxBIJ
https://dl.doubtnut.com/l/_cDQ4k0fyss70

Answer: C

o Watch Video Solution

38. Regulatory sites present over the enzymes

are called

A. Active sites

B. Catalytic groups

C. Buttressing sites

D. Allosteric sites


https://dl.doubtnut.com/l/_cDQ4k0fyss70
https://dl.doubtnut.com/l/_hOFW2JIdVuvS

Answer: D

o Watch Video Solution

39. Allosteric sites are of

A. One type

B. Two type

C. Three type

D. Four type

Answer: B


https://dl.doubtnut.com/l/_hOFW2JIdVuvS
https://dl.doubtnut.com/l/_kWg810H54HNK

° Watch Video Solution

40. Homeostasis is

A. Maintenance of dynamic constancy of

internal environment

B. Maintenance of static constancy of

internal environment

C. Maintaining favourable internal

environment despite changes in external

environment


https://dl.doubtnut.com/l/_kWg810H54HNK
https://dl.doubtnut.com/l/_tfjGL8yDvMbT

D.Both Aand C

Answer: D

° Watch Video Solution

41. Homeostasis is maintained by

A. Transport system

B. Favourable changes in extracellular fluid

C. Hormonal signals

D. All the above


https://dl.doubtnut.com/l/_tfjGL8yDvMbT
https://dl.doubtnut.com/l/_EKECQdQr2V4D

Answer: D

o Watch Video Solution

42. Homeostasis is disturbed when

A. It is cold outside

B. It is hot outside

C. We fall ill

D. We perform strenuous exercise

Answer: C


https://dl.doubtnut.com/l/_EKECQdQr2V4D
https://dl.doubtnut.com/l/_5VU6RUgVJLp7

° Watch Video Solution

43. Thermostant and internal thermoreceptors

are located in

A. Medulla oblongata

B. Hypothalamus

C. Anterior pituitary

D. Cerebrum

Answer: B

| 8 l


https://dl.doubtnut.com/l/_5VU6RUgVJLp7
https://dl.doubtnut.com/l/_ZCUDHULnvvQX

44, Thermostant present in the skin are

A.Warm receptors below the epidermis

and cold receptors in dermis

B. Warm receptors in epidermis and cold

receptors below the epidermis

C. Cold receptors in epidermis and warm

receptors below epidermis


https://dl.doubtnut.com/l/_ZCUDHULnvvQX
https://dl.doubtnut.com/l/_o0pHz9DOXe2n

D. Cold receptors below the epidermis and

warm receptors in dermis

Answer: A

o Watch Video Solution

45. Homeothermy in human is maintained

through

A. Negative feed-back loop

B. Thermoreceptors


https://dl.doubtnut.com/l/_o0pHz9DOXe2n
https://dl.doubtnut.com/l/_OruSmW5Z4WH9

C. Cold receptors in epidermis and warm

receptors below epidermis

D. Warm receptors

Answer: A

o Watch Video Solution

46. If the external temperature is low

A. Warm receptors are activated

B. Cold receptors are inhibited


https://dl.doubtnut.com/l/_OruSmW5Z4WH9
https://dl.doubtnut.com/l/_1SjMba11muOA

C. Thermostat becomes operational

ordering vasoconstriction of peripheral

vessels and stimulation of skeletal

muscles

D. Thermostat becomes operational

ordering vasodilation of peripheral

vessels and activation of sweat glands

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_1SjMba11muOA
https://dl.doubtnut.com/l/_AX5JVVWc4ceL

47. Growth occurs due to synthesis of

A. Protoplasmic substance

B. Apoplasmic substances

C.Both Aand B

D. None of the above

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_AX5JVVWc4ceL

48. Apoplasmic growth is through the

formation

A. cell walls and cell junctions

B. Matrix and fibres of connective tissue

C. Intake of water

D. Both Aand B

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_f0Cora519Ava
https://dl.doubtnut.com/l/_XnthGF7YHI8i

49. conversion of blastula into gastrula is

A. Cleavage

B. Morphogenesis

C. Differentiation

D. Reproduction

Answer: B

° Watch Video Solution

50. Systematics is


https://dl.doubtnut.com/l/_XnthGF7YHI8i
https://dl.doubtnut.com/l/_5gvhadP6kcDd

A. Identification

B. Nomenclature

C. Relationships and classification

D. All the above

Answer: D

o Watch Video Solution

51. Taxonomy is connected with

A. Connection of plants and animals


https://dl.doubtnut.com/l/_5gvhadP6kcDd
https://dl.doubtnut.com/l/_Sd46tJog0mb5

B. Classification of organisms

C. Identification, nomenclature

classification of organisms

D. All the above

Answer: C

and

o Watch Video Solution

52. Classification deals with

A. Identification of organisms


https://dl.doubtnut.com/l/_Sd46tJog0mb5
https://dl.doubtnut.com/l/_l9SbHXTl9L3S

B. Arranging organisms into groups

C.Arranging organisms in herbaria and
museums

D. Naming, identification and grouping of

organisms.

Answer: B

° Watch Video Solution

53. The term taxon was coined by


https://dl.doubtnut.com/l/_l9SbHXTl9L3S
https://dl.doubtnut.com/l/_itiMKXpvIwAQ

A. De Candolle

B. Theophrastus

C. Pliny

D. Linnaeus

Answer: A

° Watch Video Solution

54. Taxonomy is important in agriculture

because it helps in


https://dl.doubtnut.com/l/_itiMKXpvIwAQ
https://dl.doubtnut.com/l/_DEz5z01vJkVf

A. Identification of plants pests

B. Identification of weeds

C. Identification of pathogens

D. All the above

Answer: D

o Watch Video Solution

55. The term taxon was first used by

A. Meyer


https://dl.doubtnut.com/l/_DEz5z01vJkVf
https://dl.doubtnut.com/l/_FCzVLxNXTPlT

B. Linnaeus

C. Lamarck

D. De Candolle

Answer: A

o Watch Video Solution

56. A genus with a single species is

A. Monotypic

B. Typical


https://dl.doubtnut.com/l/_FCzVLxNXTPlT
https://dl.doubtnut.com/l/_t2yZb8Er5Onn

C. Atypical

D. Polytypic

Answer: A

° Watch Video Solution

57. Number of obligate categories is

A9

B.7

C.5


https://dl.doubtnut.com/l/_t2yZb8Er5Onn
https://dl.doubtnut.com/l/_mOyu1DNmZqeE

D.3

Answer: B

o Watch Video Solution

58. Hierarchy of categories was intoduced by

A. Linnaeus

B. De candolle

C. Bauhin

D. John Ray


https://dl.doubtnut.com/l/_mOyu1DNmZqeE
https://dl.doubtnut.com/l/_6vyjeM4inTf5

Answer: A

o Watch Video Solution

59. Maize is a

A. Category

B. Taxonomic category

C. Taxon

D. Species

Answer: C


https://dl.doubtnut.com/l/_6vyjeM4inTf5
https://dl.doubtnut.com/l/_dHckZOCtqD5j

° Watch Video Solution

60. Which is not a category ?

A. Ecotype

B. Species

C. Genus

D. Order

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_dHckZOCtqD5j
https://dl.doubtnut.com/l/_Xlkk0MhSDEXC

61. Binomial nomenclature is

A. Not applicable to cyanobacteria

B. Not accepted by a number of countries

C. Universal with one specific name of each

organism

D. Universal with two specific names to

each organism

Answer: C

I o Watch Video Solution


https://dl.doubtnut.com/l/_Xlkk0MhSDEXC
https://dl.doubtnut.com/l/_6ktSYAsz1qiT

62. Two organisms with different correlated

morphological characters belong to

A. One biological species

B. One taxonomic species

C. Two biological species

D. Two taxonomic species

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_6ktSYAsz1qiT
https://dl.doubtnut.com/l/_66LYES5BVgFE

63.ICBN is connected with

A. correct nomenclature of animals

B. Correct nomenclature of plants

C. Correct nomenclature of biochemicals

D. All the above

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_66LYES5BVgFE
https://dl.doubtnut.com/l/_NvpFPK1ghoJu

64.ICZN was adopted in

A. 1960

B. 1970

C. 1964

D. 1974

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_NEU3EN2BhTRr

65. Species is

A. Group of individuals occurring in a

geographical area

B. Population of one type

C. Population or populations of individuals

with similar genotypic and phenotypic

traits

D. Population or populations of

interbreeding individuals


https://dl.doubtnut.com/l/_VpwYmSQppyzN

Answer: D

o Watch Video Solution

66. Organisms are classified to

A. Know their distribution

B. Establish relationships

C. Know their major traits

D. Study evolution

Answer: B


https://dl.doubtnut.com/l/_VpwYmSQppyzN
https://dl.doubtnut.com/l/_QTu6H5l7Yhe7

° Watch Video Solution

67. Holotype is a specimen

A. Nomenclatural type used by author

B. Nomenclatural type when the original is

missing

C. Nomenclatural type when the lectotype

Is missing

D. Synonym of paratype


https://dl.doubtnut.com/l/_QTu6H5l7Yhe7
https://dl.doubtnut.com/l/_wtSg90EBDVm3

Answer: A

o Watch Video Solution

68. Lectotype is

A. Duplicate of holotype

B. Specimen described alongwith holotype

C.specimen cited by author without

making one holotype


https://dl.doubtnut.com/l/_wtSg90EBDVm3
https://dl.doubtnut.com/l/_JL2GcE78ROQZ

D. Specimen selected from original material

for nomenclatural type when there is no

holotype

Answer: D

o Watch Video Solution

69. Isotype is a specimen

A. Duplicate of holotype

B. Described alongwith holotype


https://dl.doubtnut.com/l/_JL2GcE78ROQZ
https://dl.doubtnut.com/l/_bnJJgrlUPSIF

C. Nomenclatural type when the original is

missing

D.Cited by author when there is no

holotype

Answer: A

° Watch Video Solution

70. Neotype is


https://dl.doubtnut.com/l/_bnJJgrlUPSIF
https://dl.doubtnut.com/l/_rrCRBd20HwGw

A.Nomenclatural type from original

material

B. Nomenclatural type when the original

material is missing

C. One of the two or more specimens cited

by author

D. New species discovered by a scientist

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_rrCRBd20HwGw
https://dl.doubtnut.com/l/_30e7IE3YJxZq

71. Several genera resembling one another in

their major anatomical and reproductive

characters are placed together in

A. Species

B. Genus

C. Family

D. Order

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_30e7IE3YJxZq

72. Name the taxonomist who wrote Species

Plantarum and Systema Naturae

A. Bentham and Hooker

B. John Ray

C. Linnaeus

D. De Candolle

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_kZ1FjlSo64ZY
https://dl.doubtnut.com/l/_BkSOWClw81MM

73. The scientist who first gave the dynamic

concept of species

A. Julian Huxley

B. Linnaeus

C. Lamarck

D. John Ray

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_BkSOWClw81MM

74. Typological concept of species was given bt

A. Mendel

B. Aristotle and Plato

C. John Ray

D. Hutchinson

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_5QNSkx5RnFBa

75.1CVN is

A.International code of Veterinary

Nomenclature

B. International Code of Viral

Nomenclature

C.International Code of Vertebrata

Nomenclature

D. International Code of Verme

Nomenclature


https://dl.doubtnut.com/l/_Fuq8Od0uq7xM

Answer: B

o Watch Video Solution

76. Common names are

A. Non-scientific

B. Scientific

C. Morphological

D. Universal with two specific names to

each organism


https://dl.doubtnut.com/l/_Fuq8Od0uq7xM
https://dl.doubtnut.com/l/_EdKU6Ztl2XFE

Answer: A

o Watch Video Solution

77. Generic name should be written as

A. First letter capital and double word

B. First letter small and double word

C. First letter capital and single word

D. First letter small and single word

Answer: C


https://dl.doubtnut.com/l/_EdKU6Ztl2XFE
https://dl.doubtnut.com/l/_H06GTi48gEdl

° Watch Video Solution

78. The category of family is between

A. Genus and species

B. Order and genus

C. Phylum and genus

D. Kingdom and class

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_H06GTi48gEdl
https://dl.doubtnut.com/l/_Pmn7M4xRE30n

79. The highest category in taxonomy is

A. Phylum

B. Class

C. Kingdom

D. Species

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Pmn7M4xRE30n
https://dl.doubtnut.com/l/_QwwnzlvDkS4U

80. The lowest category in taxomoic hierarchy

IS

A. Phylum

B. Subspecies

C. Species

D. Variety

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_OfMLFrL9Kglg
https://dl.doubtnut.com/l/_prGRTfePRVk9

81. Related species which are reproductively

isolated but morphologically similar are called

A. Allopatric

B. sympatric

C.Sibling

D. Morphospecies

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_prGRTfePRVk9

82. Species having many subspecies are

A. Monotypic/Microspecies

B. Allopatric

C.Sibling

D. Polytypic/Macrospecies

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_1ftlaUzWeaR6

83. Taxonomic category of 'Order' comes in

between

A. Class and family

B. kingdom and class

C. Family and genus

D. Phulum and class

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_EK4H1RGO8Yt3
https://dl.doubtnut.com/l/_u6nYewWg8zAM

84.ICBN was adopted in

A. 1951

B. 1971

C. 1961

D. 1981

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_u6nYewWg8zAM

85. Correlated characters are those which

occur

A. At random

B. In groups or units

C. In a particular portion of body

D. In certain groups of organisms

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_0z0luUdapwjz
https://dl.doubtnut.com/l/_6ruTw4iqXjSa

86. A tautonym is

A. Non-latinised name

B. Same name for genus and species

C. common name used as scientific name

D. Unscientific explanation of

phenomenon

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_6ruTw4iqXjSa

87. Type specimen of a new species has to be

A. Described in Latin

B. Published in recognised scientific journal

C.Kept in a recongnised herbarium or

collection

D. All the above

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Li8NYeGc6E8g
https://dl.doubtnut.com/l/_5z0Fed8740Aa

88. A taxonomic species distinguished on the

basic of morphological characters is

A. Morphospecies

B. Bisopecies

C. Linneon

D. Neontological species.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_5z0Fed8740Aa

89. Neontological species is

A. Species belonging to particular area

B. Species of a particular time

C. Living species

D.Both Aand B

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_BGP6hO71Cnhk

90. Species belonging to different time

periods are

A. Allochronic species

B. Parapatric species

C. Synchronic species

D. Allopatric species

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_acR4KuMnfz79
https://dl.doubtnut.com/l/_4tXvSGqqO6Em

91. Parapatric species are species found in

A. Adjacent geographic ranges

B. Two ends of a geographical range

C. Same geographical area

D. Overlapping geographic area

Answer: A

o Watch Video Solution

92. The term corn is used in US.A. for


https://dl.doubtnut.com/l/_4tXvSGqqO6Em
https://dl.doubtnut.com/l/_bQczG5eNiLKh

A. Maize

B. Wheat

C. Wheat, Oat and Rye

D. Both Aand B

Answer: C

o Watch Video Solution

93. Lady's Finger is actually

A. Okra


https://dl.doubtnut.com/l/_bQczG5eNiLKh
https://dl.doubtnut.com/l/_4zFhK8Lj9wQD

B. Smooth Guard

C. Ridge Guard

D. Cucumber

Answer: A

o Watch Video Solution

94. Which is correct about common names

A. Easier to remember

B. Different in different languages


https://dl.doubtnut.com/l/_4zFhK8Lj9wQD
https://dl.doubtnut.com/l/_9Jbe6sV2Kxt8

C. Universally recognised

D. All the above

Answer: B

o Watch Video Solution

95. Principles and rules of classification are

studied under

A. systematics

B. Natural classification


https://dl.doubtnut.com/l/_9Jbe6sV2Kxt8
https://dl.doubtnut.com/l/_s0JZOY5vmDNo

C. Nomenclature

D. Taxonomy

Answer: D

O Watch Video Solution

96. All the species of a genus possess same

A. Ancestry

B. Karyotype

C. Anatomy


https://dl.doubtnut.com/l/_s0JZOY5vmDNo
https://dl.doubtnut.com/l/_doCXEMoJFBkw

D. Genetics

Answer: A

o Watch Video Solution

97. Biospecies is based on

A. Cytological traits

B. Reproductive isolation

C. Genetic isolation

D. Both B and C


https://dl.doubtnut.com/l/_doCXEMoJFBkw
https://dl.doubtnut.com/l/_DwRUUE9CXtVj

Answer: D

o Watch Video Solution

98. Trinomical nomenclature is used in case of

A. Sympatric species

B. Allochronic species

C. Polytypic species

D. Sibling species

Answer: C


https://dl.doubtnut.com/l/_DwRUUE9CXtVj
https://dl.doubtnut.com/l/_87aFl8Zc7bWT

° Watch Video Solution

99. Linnaeus published his concept of binomial

nomenclature first in

A. Systema Naturae

B. Species Plantarum

C. Genera Plantarum

D. Philosophia Botanica

Answer: D
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https://dl.doubtnut.com/l/_87aFl8Zc7bWT
https://dl.doubtnut.com/l/_uMDAoQfCz799

100. Comm and generic names are similar in

case of

A. Felis

B. Gorilla

C. Mangifera

D. Saccharum

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_uMDAoQfCz799
https://dl.doubtnut.com/l/_Jnti2TCcgccv

101. Which one is a correct nomencclature ?

A. Felis domesticus

B. Felis domestica

C. mangifera indicus

D. Tamarindus indica

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Jnti2TCcgccv
https://dl.doubtnut.com/l/_CE3JSELpSL8U
https://dl.doubtnut.com/l/_ezfzl3xnUabA

102. A non-obligate component of hierarchy of

categories used by Linnaeus was

A. Class

B. Genus

C. Family

D. Variety

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_ezfzl3xnUabA

103. Taxon Tiger represents

A. species

B. Genus

C. Family

D. Class

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_d6vVxUSsmQ8R

104. Taxon Eucalyptus denotes

A. Species

B. Genus

C. Class

D. Division

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ma7fRaITw2uo

105. Roundworms is a taxon that denotes

A. Genus

B. Family

C. Phylum

D. Class

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_3nG3lCoXhUWk

106. Which one has a real existence

A. Phylum

B. Class

C. Genus

D. Species

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_OKT1wd7s9sq0

107. Correlated characters are similar traits

found in

A. all members of a population

B. All races of a species

C. all species of a genus

D. All the above

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_mffyzFuNRC6q
https://dl.doubtnut.com/l/_cGb6WEgZE4ZA

108. A non-obligate category introduced

between class and division is

A. Tribe

B. Subclass

C. Superclass

D. Taxon

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_cGb6WEgZE4ZA

109. Keys are required for

A. Phylogenetic classification

B. Natural classification

C. Identification of organism

D.Both B and C

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_fvvET8rMoMFK

110. Types of keys are

A. One

B. Two

C.Three

D. Four

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_HUxDJDFopVa1

111. Indented keys are also known as

A. Yoked keys

B. Yolked keys

C. Bracketed keys

D. None of the above

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_pWZNFPKdWJvV

112. which one is a taxonomic aid

A. Manual

B. Monograph

C. Museum

D. All the above

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_NF9UR72ZvhFR

113. Zoological parks contain

A. Stuffed animals

B. animal skeletons

C. Live animals

D.Both Aand B

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_MyHJSd3oYc7a

114. The standard size of herbarium sheet is

A.29 x 41em

B.15 x 30cm

C.21 x 36em

D. 25 X 38cm

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_PXqaaWdPSeLZ

115. Labels are pasted on the herbarium sheets

over

A. Right hand top

B. Right hand bottom

C. Left hand top

D. Left hand bottom

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_OpEj9Dt6hn4r
https://dl.doubtnut.com/l/_x2Cwu1Xozny9

116. The common fungicide used in preventing

growth of fungus on herbarium specimens is

A. Copper sulphate

B. Lime

C.Both Aand B

D. Mercuric chloride

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_x2Cwu1Xozny9

117. NBRI is located in

A. Kolkata

B. Chennai

C. Lucknow

D. Darjeeling

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_we4tUlfH15iO

118. The largest botanical garden of India is

A. National Botanical Garden, Lucknow

B. Indian Botanical Garden, Shibpur

C. Lalbagh Gardens, Bangalore

D. Botanical Garden, Ootacomand

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Owk5fK9oicY9

119. The largest herbarium of the world is

located in

A. Royal Botanical Graden, Kew

B. Central National Herbarium, sibpur

C. Museum of Natural History, Paris

D. Madras Herbarium, Coimbatore

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_lHGUCnBmRNTF

1. Basic unit or smallest taxon of classification

A. Species
B. Kingdom
C. family

D. Variety

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_mR5o31UNrusA

2. Water protects organisms from thermal

shock due its high

A. Thermal conductivity

B. Latent heat

C. Dielectric constant

D. All the above

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_mR5o31UNrusA
https://dl.doubtnut.com/l/_F2xchA23kdlg

3. Homeostasis is

A.Tendency of charge with change in

environment

B. Tendency to resist change

C. Disturbance in regulatory control

D. Plants and animal extracts used in

homeopathy

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_OSS4a1mSLnai

4. Sweating is meant for

A. Killing of skin bacteria

B. Regulation of body temperature

C. Removal of excess salt

D. Removal of excess water

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_OSS4a1mSLnai
https://dl.doubtnut.com/l/_jwJP0df35DDe
https://dl.doubtnut.com/l/_522NWoSKtISV

5. Manintenance of internal favourable

conditions, despite changes in external

envrironment is

A. Enthalpy

B. Homeostasis

C. Entropy

D. Steady state

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_522NWoSKtISV
https://dl.doubtnut.com/l/_6ngJRJDiqvRR

6. Father of taxonomy is

A. De Candolle

B. Hooker

C. Linnaeus

D. Aristotle

Answer: C

o Watch Video Solution

7.The term species was given by


https://dl.doubtnut.com/l/_6ngJRJDiqvRR
https://dl.doubtnut.com/l/_zOqqzAB6PuAx

A. John Ray

B. Linnaeus

C. Darwin

D. Aristotle

Answer: A

o Watch Video Solution

8. sequence of taxonomic categories is


https://dl.doubtnut.com/l/_zOqqzAB6PuAx
https://dl.doubtnut.com/l/_PhQIO7VTNMGz

A. Class - Phylum - Tribe - Order - Family -

Genus - Species

B. Division - Class - Family - Tribe - Order -

Genus - Species

C. Division - Class - Order - Family - Tribe -

Genus - Species.

D. Phylum - Order - Class - Tribe - Family -

Genus - Species

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_PhQIO7VTNMGz

9. Carolus Linnaeus (Carl Linne) was from

A. Sweden

B. UK.

C. Holland

D. France

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_PhQIO7VTNMGz
https://dl.doubtnut.com/l/_e9DrmZzl8lco
https://dl.doubtnut.com/l/_no09ryGrdvUO

10. A group of interbreeding organisms is

A. Genus

B. Family

C. Order

D. Species

Answer: D

o Watch Video Solution

11. Binomial nomenclature was introduced by


https://dl.doubtnut.com/l/_no09ryGrdvUO
https://dl.doubtnut.com/l/_nT3hbrJ8Tt7v

A. De Vries

B. Carolus Linnaeus

C. Huxley

D. John Ray

Answer: B

° Watch Video Solution

12. Linnaeus evolved a system of nomenclature

called


https://dl.doubtnut.com/l/_nT3hbrJ8Tt7v
https://dl.doubtnut.com/l/_9iMFwvxv8u2V

A. Mononomical

B. Vernacular

C.Binomial

D. Polynomial

Answer: C

o Watch Video Solution

13. Two or more species occupying identical or

overlaping areas are known as


https://dl.doubtnut.com/l/_9iMFwvxv8u2V
https://dl.doubtnut.com/l/_70dBVOgwmyBe

A. Sympatric

B. Sibling

C. Subspecies

D. Alloptric

Answer: A

o Watch Video Solution

14. First act in taxonomy is

A. Description


https://dl.doubtnut.com/l/_70dBVOgwmyBe
https://dl.doubtnut.com/l/_lqHIlo4uaqUn

B. Identification

C. Naming

D. Classification

Answer: A

o Watch Video Solution

15. A group of plants with similar traits of any

rank is

A. Species


https://dl.doubtnut.com/l/_lqHIlo4uaqUn
https://dl.doubtnut.com/l/_0amknb0o3Dww

B. Genus

C. Order

D. Taxon

Answer: D

o Watch Video Solution

16. A taxon is

A. A group of related families

B. A group of related species


https://dl.doubtnut.com/l/_0amknb0o3Dww
https://dl.doubtnut.com/l/_J3Posn7AsEaK

C. A type of living organism

D. A taxonomic group of any ranking

Answer: D

o Watch Video Solution

17. Branch connected with nomenclature,

identification and classification is

A. Ecology

B. Taxonomy


https://dl.doubtnut.com/l/_J3Posn7AsEaK
https://dl.doubtnut.com/l/_cRcxMZcGwdNz

C. Morphology

D. Physiology

Answer: B

° Watch Video Solution

18. Systema naturae was written by

A. Lamarck

B. Cuvier

C. Aristotle


https://dl.doubtnut.com/l/_cRcxMZcGwdNz
https://dl.doubtnut.com/l/_14YUsMfe1AG8

D. Linnaeus

Answer: D

° Watch Video Solution

19. Linnaeus is credited with

A. Binomial nomenclature

B. Theory of biogenesis

C. Discovery of microscope

D. Discovery of blood circulation


https://dl.doubtnut.com/l/_14YUsMfe1AG8
https://dl.doubtnut.com/l/_ZEI3g3dbGHa0

Answer: A

o Watch Video Solution

20.The term phylum was given by

A. Cuvier

B. Haeckel

C. Theophrastus

D. Linnaeus

Answer: C


https://dl.doubtnut.com/l/_ZEI3g3dbGHa0
https://dl.doubtnut.com/l/_b4ff78kMCm1W

° Watch Video Solution

21. The suffix -'oideae' is used for

A. Tribe

B. family

C. Class

D. Subfamily

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_b4ff78kMCm1W
https://dl.doubtnut.com/l/_iw15Hgymcsjl

22. Internationaly code of 'Biological

Nomenclature' is applicable to

A. Viruses

B. Plants

C. Animals

D.Both B and C

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_iw15Hgymcsjl
https://dl.doubtnut.com/l/_XvPVOAmPlFmU
https://dl.doubtnut.com/l/_4AkyJedjn3tp

23. Species is a group of organisms that

A. Can interbredd

B. Cannot interbreed

C. Live together

D. None of the above

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_4AkyJedjn3tp

24. Binomial nomenclature means

A. One name given by two secientists

B. One scientific name consisting of generic

and specific epithet

C.Two names, one latinised, other of a

person

D. Two names, one scientific, other local

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_BHWNpxgfY2IY

25. The third name in trinomial nomenclature

A. Species

B. Subgenus

C. Subspecies

D. Ecotype

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_BHWNpxgfY2IY
https://dl.doubtnut.com/l/_pkZOQhp4lz7y

26. In Botanical nomenclature of plants

A. Both genus and species are printed in

italics

B. Genus and species may be of same name

C. Both in genus and species the first letter

Is capital

D. Genus is written after the species.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_K7bjWWBGKvRY

27.Species is

A. Specific unit of evolution

B. Specific unit in the evoutionary history

of a race

C. Specific class of evolution

D. Not related to evolution

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_K7bjWWBGKvRY
https://dl.doubtnut.com/l/_j5bL2qbEk8TE

28. Binomial nomenclature consists of two

words

A. Genus and species

B. Order and family

C. Family and genus

D. Species and variety

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_fUfxiCFl7FZT
https://dl.doubtnut.com/l/_Fk6cGPAIgt1b

29. mayr's biological concept of species

mainly based on

A. Morphological traits

B. Reproductive isolation

C. Modes of reproduction

D. Morphology and reproduction

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Fk6cGPAIgt1b

30. Two morophologically similar populations

are intersterile. They belong to

A. One species

B. Two biospecies

C. Two sibling species

D. None of the above

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_88pQmvYFptqR
https://dl.doubtnut.com/l/_1TaZFgA4Szp3

31. Specimen used for original publication by

the author is

A. Holotype

B. Isotype

C. Syntype

D. Lactotype

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_1TaZFgA4Szp3

32. Two similar holotypes are called

A. Mesotypes

B. meotypes

C. Syntype

D. Isotypes

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_FNRywmEDhp7m

33. A binomial nomenclature has words/parts

A. Five

B. Three

C. Two

D. One

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_WjlCBAqyN4bB

34. binomial system of nomenclate for plants

is effective from

A. 581771

B.1.5.1753

C.1.8.1758

D. 6.7.1736

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_3scPPIYqjlM5
https://dl.doubtnut.com/l/_3jldDDHZuJgN

35. A species was defined as a population of

interbreeding inviduals and reproductively

isolated from other populations by

A. charless Darwin

B. J.B. Lamarck

C. Carolus Linnaeous

D. Ernst Mayr

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_3jldDDHZuJgN
https://dl.doubtnut.com/l/_ylinHHdJvlza

36. Species living in different geographical

areas are

A.Sibling species

B. Morphospecies

C. Sympatric species

D. Allopatric species

Answer: D

O Watch Video Solution



https://dl.doubtnut.com/l/_ylinHHdJvlza

37. Which one is a taxon ?

A. Order

B. Family

C. Genus

D. All the above

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_LOyodhrMjtJs

38. Charateristic which delimit a family are

more general than those which delimit a

A. Cohort

B. Phylum

C.class

D. Genus

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_lZCVR1xHvEAe
https://dl.doubtnut.com/l/_DLJd8EUNN9lr

39. If a botanist has to nomencate a similar

species. He will use

A. Syntype

B. Isotype

C. Neotype

D. Mesotype

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_DLJd8EUNN9lr

40. In which book has " binomial

nomenclature" been used for the frist time

A. Histoire Naturelle

B. Systema Naturae

C. Historia Naturalis

D. Historia Plantarum

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Kl93IVv3Tvfj
https://dl.doubtnut.com/l/_LgUD13Kcy3uR

41. Who developed the "key" for identificaton

of animals

A. John Ray

B. Goethe

C. Cuvier

D. Theophrastus

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_LgUD13Kcy3uR

42. first great taxonomist was

A. Linnaeus

B. Hooker

C. Aristotle

D. Engler

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_VrGLUv6eTC86

43. Which one of the following has least

similar characters ?

A. Family

B. class

C. Genus

D. Species

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_8H90ip5F8dRD
https://dl.doubtnut.com/l/_PEdZW4MUsZTl

44.The term 'taxon' is used for

A. Species

B. Unit of classification

C. Highest rank in classification

D. Group of closely related organisms

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_PEdZW4MUsZTl

45. Individuals of one population can

interbreed with individuals of another

population if they belong to same

A. Species

B. Genus

C. Family

D. Order

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_cuKyisFFzxPS

46. Assertion: To given scientific name to plant

, there is ICBN.

Rerson: It uses acticles photographs and

ercommendations to name a plant.

A. both are true with reason being correct

explanation

B. both are true but reason is not correct

explanation

C. assertion true but reson is wrong

D. both are wrong


https://dl.doubtnut.com/l/_dzYoJMcRMhoJ

Answer: A

o Watch Video Solution

47.the total content of a system is

A. Free energy

B. Enthalpy

C. Entropy

D. Kinetic energy

Answer: B


https://dl.doubtnut.com/l/_dzYoJMcRMhoJ
https://dl.doubtnut.com/l/_EEb5usyNrWPK

° Watch Video Solution

48. Which is correct about energy changes in

living cells ?

A.First energy transfer, then energy

transformation

B. First energy transformation, then energy

transfer

C. Both occur discontinuously

D. Both occur continuously


https://dl.doubtnut.com/l/_EEb5usyNrWPK
https://dl.doubtnut.com/l/_Gu3bQSGAdZq2

Answer: D

o Watch Video Solution

49. which of the following Is less general in

characters as compared to genus

A. Species

B. Family

C. Class

D. Division


https://dl.doubtnut.com/l/_Gu3bQSGAdZq2
https://dl.doubtnut.com/l/_b60MKDTZz4cZ

Answer: A

o Watch Video Solution

50. What is correct

A. APIS INDICA

B. trypansoma gambiense

C. Ficus Bengalensis

D. Mangifera indica

Answer: D


https://dl.doubtnut.com/l/_b60MKDTZz4cZ
https://dl.doubtnut.com/l/_Qdzxe9rqod56

° Watch Video Solution

51. which cover the largest number of

organisms

A. Genus

B. Family

C. Phylum

D. Class

Answer: C

| 8 l


https://dl.doubtnut.com/l/_Qdzxe9rqod56
https://dl.doubtnut.com/l/_8Bo3uZyogdzU

52. Find out the correct sequence in ascending

order of hierarchy

A. Phylum, Class, Family, Species, Order

B. Species, Genus, Family, Order, Class

C. Species, Genus, Phylu, Class

D. Class, Family, Species, Genus, Order

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_8Bo3uZyogdzU
https://dl.doubtnut.com/l/_sLlaN3jQ8XpN

53. which of the following is not taxon but a

category

A. Division

B. Angiospherms

C. Polypetalae

D. Hibiscus

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_sLlaN3jQ8XpN
https://dl.doubtnut.com/l/_by6lXISqZll9

54. Descending arrangements of categories is

called

A. Classification

B. Taxonomy

C. Hierarchy

D. Key

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_WvgkSzyKnnSs
https://dl.doubtnut.com/l/_UDC740mQ9Jpl

55. Holotype is

A.Specimen used by author as

nomenclature type

B. Specimen referred alongwith original

descroption

C. Duplicate of nomenclature type

D. Specimen selected from original when

nomenclature type is missing

Answer: A

I O Watch Video Solution


https://dl.doubtnut.com/l/_UDC740mQ9Jpl

56. Keystone species are

A. Species belonging to same peroid

B.Species that determine structure of

biotic community

C. Species reproducing sexually

D. Species recorded only in the fossil state

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_UDC740mQ9Jpl
https://dl.doubtnut.com/l/_tKc1BrLbDWqL

57. Institution which encourages publication

of local flora is

A. NBRI

B. FRI

C. BSI

D. IARI

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_tKc1BrLbDWqL
https://dl.doubtnut.com/l/_XYUuNsqC31AP

58. Nicotiana is

A. Variety

B. Subspecies

C. Species

D. Genus

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_xmFiqyGjLwdA

59. Which one is odd/not a category ?

A. Species

B. Class

C. Phylum

D. Glumaceae Malvaceae

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_pX9LlRgldyKJ

60. The correct hierarchical order is

A.Kingdom, genus, class, phylum and

division

B. Phylum, kingdom, genus, species and

class

C.Kingdom, phylum, class, genus and

species

D. Phylum, division, family, genus and class

Answer: C



https://dl.doubtnut.com/l/_Qa9se05X1Q7d

\ ° Watch Video Solution

61. In hierarchical classification class

interpolated between

A. Family and genus

B. Phylum and order

C. Order and Family

D. Kingdom and phylum

Answer: B

IS

l o Watch Video Solution


https://dl.doubtnut.com/l/_Qa9se05X1Q7d
https://dl.doubtnut.com/l/_TSgQdfVkX0oM

62. Binomial nomenclature is

A. Two words in name of a species

B. Two names local and species

C. Two names of a species

D. Two phases, asexual and sexual, in the

life cycle of a species.

Answer: A

O Watch Video Solution



https://dl.doubtnut.com/l/_TSgQdfVkX0oM
https://dl.doubtnut.com/l/_GIuTeyZLu0hu

63. A true species consists of a population

which is

A. sharing the same niche

B. Interbreeding

C. Feeding over the same food

D. Reproductivity isolated

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_GIuTeyZLu0hu
https://dl.doubtnut.com/l/_oBIGi9spejSS

64. Which one is incorrect

A. New individuals replace the dead ones

B. Homeostasis produces a self regulated

stead state

C. Most homeostatic mechanism operate

through feed-back system

D. Cell obtains instructions for division

from a hereditary protein.

Answer: D



https://dl.doubtnut.com/l/_393QFQWC9Op3

‘ o Watch Video Solution

65. Assertion. Living system are closed

systems.

Reason. Energy of living organisms cannot be

lost of gained from environment

A.both are true with reason being correct

explanation

B. both are true but reason is not correct

explanation


https://dl.doubtnut.com/l/_393QFQWC9Op3
https://dl.doubtnut.com/l/_uJUKwMGyfHAx

C. assertion true but reson is wrong

D. both are wrong

Answer: D

o Watch Video Solution

66. Assertion. Death is regarded as the most
regulatory process on earth.
Reason. It avoids over-crowding caused by

continuous reproduction


https://dl.doubtnut.com/l/_uJUKwMGyfHAx
https://dl.doubtnut.com/l/_vvsO5AbQEUx2

A.both are true with reason being correct

explanation

B. both are true but reason is not correct

explanation

C. assertion true but reson is wrong

D. both are wrong

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_vvsO5AbQEUx2

67. Assertion: Systermatics is the branch of
biology that deals with classification of living
organisms.

Rerson: The aim of classification is to group

the organisms.

A.both are true with reason being correct

explanation

B. both are true but reason is not correct

explanation

C. assertion true but reson is wrong


https://dl.doubtnut.com/l/_WhLdmrc0Sbb7

D. both are wrong

Answer: B

o Watch Video Solution

68. Nicotiana sylvestris flowers only during
long days and N.tobacum flower only during
long days in the labortory undre different
photoperiods , they can be induced to flower
at the same time and can be cross fertized to

flower aat the and can be corss fertillzed to


https://dl.doubtnut.com/l/_WhLdmrc0Sbb7
https://dl.doubtnut.com/l/_9M5RxSKlQpOf

produce self - fertile offsping .What is the best

reason for considering N. syvestris and N .

tobacum to be separate species

A. They cannot interbreed in nature

B. They are reproductively distinct

C. They are physiologically distant

D. they are morphologically distinct.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_9M5RxSKlQpOf
https://dl.doubtnut.com/l/_sYz1eHpwLAvl

69. Species are considered as

A. Real basic units of classification

B. Lowest units of classification

C. Artifical concept of human mind which

cannot be defined in absolute terms

D.Real units of classification devised by

taxonomists

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_sYz1eHpwLAvl

70. What is true about the species which have

become extinct.

A. About 99% of all that lived on earth

B. About 75 % of all that lived on earth

C. About 25% of all that lived on earth

D. None of the above

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_frWUNiaJhT4i
https://dl.doubtnut.com/l/_vWC09NLLJQ1a

71. Place of keeping and studying dry plants is

A. Arboretum
B. Museum
C. Vasculum

D. Herbarium

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_vWC09NLLJQ1a

72. Each unit of a category of classification can

be called

A. Order

B. Cohort

C. Taxon

D. Tropic level

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_fbSN6z2e8hAa
https://dl.doubtnut.com/l/_FxdWqzZ7VcAp

73. Scientific name of plant family ends in

A. — ales
B. — ata
C. — sida

D. — eae/aceae

Answer: D

° Watch Video Solution

74.1CBN is


https://dl.doubtnut.com/l/_FxdWqzZ7VcAp
https://dl.doubtnut.com/l/_I8cLPXN9CQxx

A. International code of Biological Naming

B. International code of Botanical

Nomenclature

C.International class of Biological

Nomenclature

D. International Classification of Biological

Nomenclature

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_I8cLPXN9CQxx
https://dl.doubtnut.com/l/_r8MjgeCqZmpQ

75.Thanatology is the science that deals with

A. Death in all its aspects

B. Solving paternity of child

C. Identification of living

D. Detection of lie

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_r8MjgeCqZmpQ

76. Living steady state has a self regulatory

mechanism called

A. Homeothermy

B. Feedback mechanism

C. Homozygosity

D. Homeostasis

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_tk4QjGWU6R76
https://dl.doubtnut.com/l/_enoKtonxzDvY

77.Energy flow and energy transformation of a

living system follow

A. Law of limiting factors

B. Law of thermodynamics

C. Liebig's law of minimum

D. Biogenetic law.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_enoKtonxzDvY

78. Hierarchy of categories of Carolus Linnaeus

had categories except

A. Genus and species

B. Order and class

C. Kingdom and class

D. Phylum and family

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_FedGem2escA5
https://dl.doubtnut.com/l/_Mrc79vZVXvmV

79. Which is correct hierarchieal order ?

A. Division - order - family - class

B. Family - class - order - division

C. Family - order - class - division

D. Order - class - family - division.

Answer: C

° Watch Video Solution

80. Which is correct depiction of ICN ?


https://dl.doubtnut.com/l/_Mrc79vZVXvmV
https://dl.doubtnut.com/l/_81BIjqV9uc0y

A. Homo Sapiens

B. Homo sapiens

C. homo sapiens

D. homo Sapiens

Answer: B

o Watch Video Solution

81. Assertion (A): Scientific name Malus malus

is illegitimate


https://dl.doubtnut.com/l/_81BIjqV9uc0y
https://dl.doubtnut.com/l/_hI1W5v4fWQCM

Reason (R): It is tautonym. Find out the correct

answer.

A.Both (A) and (R) are correct with (R)

being correct explanation of (A)

B. Both (A) and (R) are true but (R) is not

correct explanation of (A)

C.(A) is true but (R) is false

D. (A) is false but (R) is true

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_hI1W5v4fWQCM

82. Statemet (S): Species are groups of
potentially interbreeding natural populations
that are isolated from other such groups

Reason (R): Reproductive isolation brings

about distinctive morphological characters

A.Both (S) and (R) are true and (R) is

correct explation of (S)

B. Only (S) is true, (R) is false

C. Both (S) and (R) are wrong


https://dl.doubtnut.com/l/_hI1W5v4fWQCM
https://dl.doubtnut.com/l/_JMaONc1f2sbH

D. Both (S) and (R) are true, but (R) is not

correct explantion of (S)

Answer: D

o Watch Video Solution

83.BNHS is abbreviation of

A. Banaras Natural History Society
B. Bombay Natural History Society

C. Botanical North Himalayan Survey


https://dl.doubtnut.com/l/_JMaONc1f2sbH
https://dl.doubtnut.com/l/_rUI0pNVrdhk1

D. Biological Natural Histroy Society

Answer: B

° Watch Video Solution

84. Alphanso and Neelam are

A. Varieties of Mangoes

B. Varieties of Apples

C. Breeds of Cow

D. Races of Man


https://dl.doubtnut.com/l/_rUI0pNVrdhk1
https://dl.doubtnut.com/l/_dWF1Kvv5C8ho

Answer: A

o Watch Video Solution

85. An important function of botanical garden

is

A. Proving beautify area for recreation

B.One can observe tropical plants over

there


https://dl.doubtnut.com/l/_dWF1Kvv5C8ho
https://dl.doubtnut.com/l/_0xOMNmUvcJYz

C. They allow ex-situ conservation of germ

plasm

D. They provide natural habitat to wildlife

Answer: C

o Watch Video Solution

86. Father of taxonomy is

A. Bentham and Hooker

B. Hutchinson


https://dl.doubtnut.com/l/_0xOMNmUvcJYz
https://dl.doubtnut.com/l/_rmFLXCVg22di

C. Linnaeus

D. whittaker

Answer: C

° Watch Video Solution

87. During cold, hairs are raised to near

vertical position by

A. Hair follicles

B. Arrestor pili


https://dl.doubtnut.com/l/_rmFLXCVg22di
https://dl.doubtnut.com/l/_ubriD99c5b45

C. Capillary plexus

D. Sebaceous glands

Answer: B

o Watch Video Solution

88. What are the verious energy
transformations that occur when you are

riding a bicycle ?

A. Entropy


https://dl.doubtnut.com/l/_ubriD99c5b45
https://dl.doubtnut.com/l/_d0iMoUTOgyQU

B. Homeostasis

C. Catabolism

D. Anabolism

Answer: A

o Watch Video Solution

89. Metabolism is

A. Release of energy

B. Gain of energy


https://dl.doubtnut.com/l/_d0iMoUTOgyQU
https://dl.doubtnut.com/l/_SwRgiqLu4fAV

C. Relase or gain of energy

D. Catabolism of a reaction

Answer: C

o Watch Video Solution

90. Identify from the following the only

taxonomic category that has a real existence.

A. Phylum

B. Kingdom


https://dl.doubtnut.com/l/_SwRgiqLu4fAV
https://dl.doubtnut.com/l/_7vlDF2QLal6B

C. Genus

D. Species

Answer: D

o Watch Video Solution

91. Which of the following taxonomic ranks
contain organism most similar to one

another?

A. Genus


https://dl.doubtnut.com/l/_7vlDF2QLal6B
https://dl.doubtnut.com/l/_u6bHuUqIRHRF

B. Species

C. Family

D. Class

Answer: B

o Watch Video Solution

92. Which nomenclature system is employed

for naming plants

A. Vernacular


https://dl.doubtnut.com/l/_u6bHuUqIRHRF
https://dl.doubtnut.com/l/_51LwwTif8pf1

B. Binomial

C. Mononomial

D. Polynomial

Answer: B

o Watch Video Solution

93. National Boltanical Research Institute

(NBRI) is located at:

A. Munbai


https://dl.doubtnut.com/l/_51LwwTif8pf1
https://dl.doubtnut.com/l/_wOu85bbw1QCV

B. Kolkata

C. Lucknow

D. Chennai

Answer: C

o Watch Video Solution

94. Two plants belongs to same species if they

A. Have more than 90% similar genes


https://dl.doubtnut.com/l/_wOu85bbw1QCV
https://dl.doubtnut.com/l/_V9qwwirMUCUj

B.Look similar and possess identical

secondary metabolites

C. Have similar number of chromosomes

D.Can reproduce freely with each other

and form seeds.

Answer: D

° Watch Video Solution

95. Which is different in different groups ?


https://dl.doubtnut.com/l/_V9qwwirMUCUj
https://dl.doubtnut.com/l/_G1mKtJfs1Jmt

A. Species

B. Taxon

C. Plankton

D. Family

Answer: B

° Watch Video Solution

96. Tenth edition of Systema Naturae was

published in


https://dl.doubtnut.com/l/_G1mKtJfs1Jmt
https://dl.doubtnut.com/l/_nhHJ0DbnMNKc

A. 1758

B. 1764

C. 1765

D. 1858

Answer: A

o Watch Video Solution

97. A living organism is unexceptionally
differentiated from a non-living structure on

the basis of


https://dl.doubtnut.com/l/_nhHJ0DbnMNKc
https://dl.doubtnut.com/l/_fvwrf7IAJXuZ

A. Reproduction

B. Growth and movement

C. Responsiveness to touch

D. Interaction with environment and

progressive evolution

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_fvwrf7IAJXuZ

98. Which of the following is an example of

negative feedback loop in humans

A. Salivation of mouth at the sight of

delicious food

B. Constriction of skin blood vessels and

contraction of skeletal muscles in cold

C.Secretion of tears on dust particles

falling in eyes.


https://dl.doubtnut.com/l/_vpb8ZHjZc0zK

D.Secretion of sweat glands and

constriction of skin blood vessels when

it is too hot

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_vpb8ZHjZc0zK

99. Match the columns

I IT
1. Carp a 102 years
2. Cobra b 47 years
3. Turtle c 152 years

4. Giant Tortoise d. 28 years
5. Swan e. 123 years

A. 1-b, 2-d, 3-e, 4-c, 5-a

B. 1-a, 2-d, 3-c, 4-e, 5-b

C. 1-b, 2-c, 3-d, 4-e, 5-a

D. 1-c, 2-d, 3-e, 4-b, 5-a

Answer: A



https://dl.doubtnut.com/l/_ioD7HmxD447X

o Watch Video Solution

100. Which one is correctly matched ?

A. Tears - Excretion of salts

B. Sweat - Thermoregulation

C. Salilva - Testing food

D. Statolith - Sexual attraction.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ioD7HmxD447X
https://dl.doubtnut.com/l/_9Oj6O5YoK7o3

101. Animals with built-in thermostat are

A. Biothermic

B. Oligothermic

C. Poikilothermic

D. Homeothermic

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_fMeYq0rYdQD8

102. Select correct ansers and mark the code
(A) 1, 2, 3 correct (B) 1 and 2 correct

(C) 2 and 4 correct (D) 1 and 3 correct

Cells regulate their activity through 1. Flow of
energy 2. Flow of materials 3. Flow of

information 4. Flow of smoke

A A

B.B

C.C

D.D


https://dl.doubtnut.com/l/_b4sIHsP0eueD

Answer: A

o Watch Video Solution

103. Which one is positive feed back

mechanism ?

A. Sexual stimulation

B. Allosteric inhibition

C. Blood pressure

D. Perspiration


https://dl.doubtnut.com/l/_b4sIHsP0eueD
https://dl.doubtnut.com/l/_05iS6gzFevfm

Answer: A

o Watch Video Solution

104. The amount of usable energy that is

available for doing work in a system is

A. Enthalpy

B. Free energy

C. Activation energy

D. Spontaneous energy


https://dl.doubtnut.com/l/_05iS6gzFevfm
https://dl.doubtnut.com/l/_sMUl5MitruUi

Answer: A

o Watch Video Solution

105. A homonym is

A. Two or more names for the same taxon

B. Species name repeats the generic name

C. Identical name of two different taxa

D. Name given to a taxon in local language

Answer: C


https://dl.doubtnut.com/l/_sMUl5MitruUi
https://dl.doubtnut.com/l/_mSAiSVyCbzaU

° Watch Video Solution

106. Oryza sativa is the binomial name of the

rice plant, the sativa stands for

A. Name of species

B. Specific nomenclature

C. Specific epithet

D. Specific name

Answer: C

| 8 l


https://dl.doubtnut.com/l/_mSAiSVyCbzaU
https://dl.doubtnut.com/l/_z5p5eFyWC839

107. An organism is in the same class but not

in the same family. It may belong to same

A. Genus

B. Species

C. Variety

D. Order

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_z5p5eFyWC839
https://dl.doubtnut.com/l/_QYDqXUPRrZD2

108. The number of species classified in

'Species Plantarum' is

A. 3800

B. 4000

C. 5900

D. 6000

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_QYDqXUPRrZD2
https://dl.doubtnut.com/l/_Ql9eohKLWG0O

109. Largest herbarium in India is at

A. National Botanical Garden, Lucknow

B. Lloyed Botanical Garden, Darjeeling

C. Forest Research Institute, Dehradum

D. Indian Botanical Garden, Sibpur

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_drHfLJcKIuij

110. The Famous botanical garden of Kew is

located in

A. India

B. England

C. Germany

D. France

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Uc4ua5mPYwNe
https://dl.doubtnut.com/l/_8v0pRVFZXwOq

111. Related genera belong to the same

A. Variety

B. Family

C. Species

D. None of the above

Answer: B

° Watch Video Solution

112. taxonomic hiearachy refers to


https://dl.doubtnut.com/l/_8v0pRVFZXwOq
https://dl.doubtnut.com/l/_h2jZ0AQfdzGI

A. Stepwise arrangement of all categories

for classification of plants and animals

B.A group of senior taxonomists who

decided the nomenclature of plants and

animal

C.A list of botanists or zoologists who

have worked on taxonomy of a species

or group

D. Classification of species based on fossil

record


https://dl.doubtnut.com/l/_h2jZ0AQfdzGI

Answer: A

° Watch Video Solution

113. What is true about assertion a and reason
r?

Assertion a. The 'biological species' concept
helps us to ask how species are formed.
Reason r. The concept of biological species
focusses our attention on the question of how

reproductive isolation comes about


https://dl.doubtnut.com/l/_h2jZ0AQfdzGI
https://dl.doubtnut.com/l/_kd5HJJuLtnR8

A. Both a and r are correct but r does not

explain a.

B.Both a and r are correct and r is true

explanation of a

C. both a and r are not true

D.Only a is true, r is not correct

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_kd5HJJuLtnR8

114. Which is not applicable to biological

species concept ?

A. Hybridisation

B. Reproductive isolation

C. Natural selection

D. Gene pool

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_U9yhdRsbbwXV
https://dl.doubtnut.com/l/_lBWlZ2DvQFgM

115. Which taxonomic aid gives comprehesive
account of complete complied information of
a genus or family at a complete complied
information of a genus or familt at a particular
time ?

A. Taxonomic key

B. Herbarium

C. Monograph

D. Flora

Answer: C

| s ]


https://dl.doubtnut.com/l/_lBWlZ2DvQFgM

| ¥ Watch Video Solution

116. Which of the following combinations is

correct for wheat

A. Genus Triticum, Family Poaceae, order

Poales, class Dicotyledonae

B. Genus Triticum, family Poaceae, order

Sapindales, class Monocotyledonae

C.Genus Triticum, family Poaceae, order

Poales, class Monocotyledonae


https://dl.doubtnut.com/l/_lBWlZ2DvQFgM
https://dl.doubtnut.com/l/_bh39xYB2owOe

D. Genus Tricticum, family Anacardiacease,

order Poales, class Monocotyledonae

Answer: C

o Watch Video Solution

117. A group of related genera, with still less
number of similarities as compared to the

genus and species consititutes

A. Division


https://dl.doubtnut.com/l/_bh39xYB2owOe
https://dl.doubtnut.com/l/_Pl4WGgEtpmVZ

B. Family

C. Order

D. Class

Answer: B

o Watch Video Solution

118. Population are said to be sympatric when

A. Two populations live together and freely

linterbreed to produce sterile offspring


https://dl.doubtnut.com/l/_Pl4WGgEtpmVZ
https://dl.doubtnut.com/l/_oj34AxBRJ7Xq

B. Two populations are physically isolated

by natural barries

C.Two populations are isolated but

occasionally  come  together to

interbreed

D.Two populations share the same

environment but cannot interbreed

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_oj34AxBRJ7Xq
https://dl.doubtnut.com/l/_CnJKJAh33wqS

119. Botanical names of plants are treated as in

Latin because

A. Rules of nomenclature were framed by

Italian botanists and they were speaking

Latin

B.It is very difficut to pronoumce Latin

names and they convey multiple

meanings

C. Latin was the natural language of many

European countries


https://dl.doubtnut.com/l/_CnJKJAh33wqS

D. Latin was a dead language, its words

would convery precise meaning. It was

the mother of all European languages

and all the early botanical literature was

in Latin

Answer: D

° Watch Video Solution

120. The Indian Botanical Garden is located at


https://dl.doubtnut.com/l/_CnJKJAh33wqS
https://dl.doubtnut.com/l/_lRgiquhrroX8

A. Dehradum

B. Lucknow

C. Kolkata

D. Chennai

Answer: C

° Watch Video Solution

121. Which of the following is the hierarchical

sequence


https://dl.doubtnut.com/l/_lRgiquhrroX8
https://dl.doubtnut.com/l/_TpGCOlu9gZ3L

A. Phylum, class, order, family

B. Phylum, division, family, class

C. Genus, species, order, family

D. Division, order, class, genus

Answer: A

o Watch Video Solution

122. Which of the following statement
regarding universal rules of nomenclature is

wrong


https://dl.doubtnut.com/l/_TpGCOlu9gZ3L
https://dl.doubtnut.com/l/_VicMT0BnOzyV

A. Both the words in a bilogical name when

handwritten are separately underlined

B.The first word in a biological name

represents the genus

C. The first word denoting the genus starts

with a capital letter

D. Biological names are generally Greek and

written in italics

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_VicMT0BnOzyV

123. Match the colums and choose the correct

combinations from the options given

a Wheat 1 Primata

b Mango 2 Diptera

¢ Housefly 3 Sapindales

d Man 4 Poales
Aa—1,b—2,c—4,d—3
B.a —4,b—3,c—2,d—1

Ca—2,b—4,c—1,d—3

D.a —3,b—4,c—2,d—1


https://dl.doubtnut.com/l/_VicMT0BnOzyV
https://dl.doubtnut.com/l/_Dxv1N6KalKuz

Answer: B

o Watch Video Solution

124. Which is the correct sequence of

taxonomic categories?

A.Species — genus — order —

phylum

B.Species — order — phylum —

kingdom


https://dl.doubtnut.com/l/_Dxv1N6KalKuz
https://dl.doubtnut.com/l/_gbUeLJ7Z9zKb

C.Genus — species — order —

kingdom

D. None of the above

Answer: D

o Watch Video Solution

125. Pesticide used in perpartion of herbarium

IS

A 2,4-D


https://dl.doubtnut.com/l/_gbUeLJ7Z9zKb
https://dl.doubtnut.com/l/_MFWkSRmpEWxo

B. NAA

C. Mercuric chloride

D. Carbon disuphide

Answer: C

o Watch Video Solution

126. The generic name of mango is

A. Mangifera indica

B. Indica


https://dl.doubtnut.com/l/_MFWkSRmpEWxo
https://dl.doubtnut.com/l/_4b4jNVcprn7W

C. Mangifera

D. Indica Mangifera

Answer: C

o Watch Video Solution

127. Scientific study of diversity of organisms

and their evolutionary relationships is called

A. systematics

B. Anatomy


https://dl.doubtnut.com/l/_4b4jNVcprn7W
https://dl.doubtnut.com/l/_1960nTvJE6Xj

C. Morphology

D. Taxonomy

Answer: A

o Watch Video Solution

128. Which is not a correct hierarchical order

A. Class, order, family

B. Family, order, class

C. Phylum, order, family


https://dl.doubtnut.com/l/_1960nTvJE6Xj
https://dl.doubtnut.com/l/_HJkbqX56XlZD

D. Class, family, genus

Answer: B

° Watch Video Solution

129. Match and find the correct options

Plantae p Archaebacteria
Fungi qg Euglenoids
Protista r

Monera s Algae

Phycomycetes

& 6 o g

Aa—s,b—r,c—qd—0p

B.a —p,b—q,c—r,d—s


https://dl.doubtnut.com/l/_HJkbqX56XlZD
https://dl.doubtnut.com/l/_MiPkVF0hCeNv

Ca—r,b—s,c—q,d—p

D.a —s,b—q,c—r,d—0p

Answer: A

o Watch Video Solution

130. select the incorect statements

(A) lower the taxon, more are the
charactersitics that the members within the
taxon share

B Order is the assemblage of genera which


https://dl.doubtnut.com/l/_MiPkVF0hCeNv
https://dl.doubtnut.com/l/_jLoZEMI82R7a

exhibit a few similar characters
C Cat and dog are included in the same family
felidae
D Binomial nomenclature was introduced by
Carolus Linnaeus

A.b and c

B.cand d

C.a,bandc

D.b,cand d

Answer: A

| 8


https://dl.doubtnut.com/l/_jLoZEMI82R7a

131. A group of related genera which resemble

each other in floral characteristics represent

A. Order

B. Taxa

C. Family

D. Species

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_jLoZEMI82R7a
https://dl.doubtnut.com/l/_auXl7r0oo5JK

132. Which is matched correctly

A. Human - Primata - the family

B. Housefly - Musca - an order

C.Tiger - tigris - the species

D. Cuttle Fish - Mollusca - a class

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_auXl7r0oo5JK
https://dl.doubtnut.com/l/_y0J0XeKNHU1A
https://dl.doubtnut.com/l/_So28yZSPK8vz

133. Which one of the following aspect is an

exclusive charcteristic of living things

A. Isolated metabolic reactions occur iIn

vitro

B. Increase in mass from inside body

C. Perception of events happening in the

environment and their memory

D.Increase in mass by accumulation of

material both on surface as well as

internally


https://dl.doubtnut.com/l/_So28yZSPK8vz

Answer: C

o Watch Video Solution

134. The defining features of living beings is

A. They digest their food

B. They can regenerate

C. They reproduce

D. They respond to external stimuli

Answer: D


https://dl.doubtnut.com/l/_So28yZSPK8vz
https://dl.doubtnut.com/l/_AUEevAKN65iX

° Watch Video Solution

135. Animals are classified into hierarchical

group, in which one of the following the

largest number of species is found

A. Genus

B. Order

C. Family

D. Cohort

Answer: D


https://dl.doubtnut.com/l/_AUEevAKN65iX
https://dl.doubtnut.com/l/_JU4hQKhehWUE

° Watch Video Solution

136. Identify the anabolic process from the

following

A. Photosynthesis

B. Glycolysis

C. Hydrolysis of starch

D. Respiration

Answer: A

| 8 l


https://dl.doubtnut.com/l/_JU4hQKhehWUE
https://dl.doubtnut.com/l/_XqFaURtCg6xh

137. Specific epithet is

A. First word in the scientific name of a

species

B. Second word in the scientifc name of a

species

C.Both Aand B

D. None of the above

Answer: B


https://dl.doubtnut.com/l/_XqFaURtCg6xh
https://dl.doubtnut.com/l/_oKVu2CeejXV7

° Watch Video Solution

138. Which of the following has correct specific

epithet

A. Indica mangifera

B. Leo Panthera

C. Canis familiaris

D. Ascris

Answer: C

| 8 l


https://dl.doubtnut.com/l/_oKVu2CeejXV7
https://dl.doubtnut.com/l/_tuLRU7wJgUqp

139. In fish Catla catla, the specific name is

identical with the generic name. It is an

example of

A. Autonym

B. Tautonym

C. Synonym

D. Homonym

Answer: B



https://dl.doubtnut.com/l/_tuLRU7wJgUqp
https://dl.doubtnut.com/l/_cwYhyvjmnAkH

I D Watch Video Solution

140. In nature, the biologically cohesive unit

among the taxa is

A. Genus

B. Order

C. Phylum

D. Species

Answer: D

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_cwYhyvjmnAkH
https://dl.doubtnut.com/l/_9y6lkBpryrzn

141. Which one of the following is a

taxonomical aid for identification of plants

and animals based on similarities and

dissimilarities

A. Flora

B. Keys

C. Manuals

D. Catalogues

Answer: B


https://dl.doubtnut.com/l/_9y6lkBpryrzn
https://dl.doubtnut.com/l/_8aMHGGYW61xH

° Watch Video Solution

142. Which is correct data of publication of

"Species Plantarum" authored by Carolus

Linnaeus

A.1st May, 1753

B. 1st January 1935

C. 1st January, 1856

D. 1st May, 1856

Answer: A


https://dl.doubtnut.com/l/_8aMHGGYW61xH
https://dl.doubtnut.com/l/_77ciU3iF8qsh

° Watch Video Solution

143. Point out the correct method of showing

scientifc name of Coconut Palm

A. Cocos Nucifera

B. cocos Nucifera

C. cocos nucifera

D. Cocos nucifera

Answer: D

| 8 l


https://dl.doubtnut.com/l/_77ciU3iF8qsh
https://dl.doubtnut.com/l/_YXF8kLnOxFFT

144. Read the statements and indentify the

incorrect one

A. Scientific names are often descriptive

B. Scientific names idicate relationship

C. Scientific names favour multiple naming

Scientific naming

D. Scientific names are used all over the

world


https://dl.doubtnut.com/l/_YXF8kLnOxFFT
https://dl.doubtnut.com/l/_TLo0qb8EO6Oc

Answer: C

o Watch Video Solution

145. Assertion: Complexity of classification
increases from kingdom to species
Reason. Common characters increase from

kingdom to species

A. both are true with reason being correct

explanation


https://dl.doubtnut.com/l/_TLo0qb8EO6Oc
https://dl.doubtnut.com/l/_WpriC57NEV5W

B. both are true but reason is not correct

explanation

C. assertion true but reason is wrong

D. both are wrong

Answer: B

o Watch Video Solution

146. The term "biosystematics" was coined by

A. Bentham and Hooker


https://dl.doubtnut.com/l/_WpriC57NEV5W
https://dl.doubtnut.com/l/_ZoCHSVy8V4e7

B. Linnaeus

C. Engler and Prantl

D. Camp and Gilly

Answer: D

o Watch Video Solution

147. Corvus splendens insolene is subspecies

of crow found in

A. India


https://dl.doubtnut.com/l/_ZoCHSVy8V4e7
https://dl.doubtnut.com/l/_5nuDKI9O58a4

B. Sri Lanka

C. Myanmar

D. Pakistan

Answer: C

o Watch Video Solution

148. Which of the following is correctly
matched with no exception in regard to plant

classification


https://dl.doubtnut.com/l/_5nuDKI9O58a4
https://dl.doubtnut.com/l/_mGc77SL9TtkA

A. Family - Poaceae-ae

B. Division - Pteridophyta - phyta

C. Class - Bryopsida - sida

D. Genus - Solanum - um

Answer: A

o Watch Video Solution

149. the common chararteristics between
tomato and potato will be maximum at the

level of their


https://dl.doubtnut.com/l/_mGc77SL9TtkA
https://dl.doubtnut.com/l/_ZUDW0NmoKMhP

A. Order

B. Division

C. Genus

D. Family

Answer: C

° Watch Video Solution

150. Which is not correct


https://dl.doubtnut.com/l/_ZUDW0NmoKMhP
https://dl.doubtnut.com/l/_5rvLHsYGQW3i

A.Key is a taxonomic aid for identification

of specimens

B. Herbarium houses dried, pressed and

preserved plant specimens

C. Botanical gardens have collection of

living plants for regerence

D.A museum has collection of

photographs of plants and animals

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_5rvLHsYGQW3i

151. nigrum is one species of genus

A. Mangifera

B. Solanum

C. Triticum

D. Pisum

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_5rvLHsYGQW3i
https://dl.doubtnut.com/l/_9rBjBnb9HMUA
https://dl.doubtnut.com/l/_HAgS3eOQK0Xn

152. Consider the following statements

(1) Genus comprises a group of related species
(i) Taxon represents a taxonomic group of
individual organisms (iii) Family comprises a
group of related genera (iv) Taxonomic
category class includes related order. of the

above statements

A. (i), (ii) and (iv) are correct

B. (ii) and (iv) are correct

C. (i), (iii) and (iv) are correct

D. (ii), (iii) and (iv) are correct


https://dl.doubtnut.com/l/_HAgS3eOQK0Xn

Answer: C

o Watch Video Solution

153. Match the colums and find the correct

option
I II
a Man 1 Poaceae
b Datura 2 Anacardiaceae
¢ Mango 3 Solanaceae
d Wheat 4 Hominidae

Aa—4b—3,c—2,d—1

B.a —4,b—3,c—1,d — 2


https://dl.doubtnut.com/l/_HAgS3eOQK0Xn
https://dl.doubtnut.com/l/_0rtcLzDfYCXP

Ca—1,b—2,c—3,d—14

D.a —1,b—3,c—2,d — 4

Answer: A

o Watch Video Solution

154. Which taxonomic category of housefly is

wrongly matched

A. Genus - Musca

B. Family - Muscidae


https://dl.doubtnut.com/l/_0rtcLzDfYCXP
https://dl.doubtnut.com/l/_rnACpLHi6id7

C. Order - Primata

D. Class - Insecta

Answer: C

° Watch Video Solution

155. Taxon is a unit of

A. Species

B. Order

C. Genus


https://dl.doubtnut.com/l/_rnACpLHi6id7
https://dl.doubtnut.com/l/_0QWn3JN6Gk2o

D. Taxonomy

Answer: A

° View Text Solution

156. Choose the wrong statement about

subspecies

A.They do not interbreed with individuals

of other subspecies

B. They are new species in the making


https://dl.doubtnut.com/l/_0QWn3JN6Gk2o
https://dl.doubtnut.com/l/_j8hKYiI7Gc6U

C. Geographically isolated populations of a

species

D. They show minor variations from parent

population

Answer: A

o Watch Video Solution

157. Which of the following statement (s)
about taxonomic aids is/are true

l. Keys are used to identify plants and animals


https://dl.doubtnut.com/l/_j8hKYiI7Gc6U
https://dl.doubtnut.com/l/_AuZHVIltEqaw

based on similarities and disimilarities.

ll. Flora contains the account of habitat and
distribution of plants in a given area.

lll. Flora provides an index to the plant species
found in a particular area.

IV. Monographs provide information for

identification of species found in an area

A.land Il only

B. I, 11 and Ill only

C.land IV only

D. 1 only


https://dl.doubtnut.com/l/_AuZHVIltEqaw

Answer: B

o Watch Video Solution

158. Which one shows hierarchical

arrangement of taxonomic categories of

plants in descending order

A.Kingdom < Division < Class <

Order <- Family < Species <

Genus


https://dl.doubtnut.com/l/_AuZHVIltEqaw
https://dl.doubtnut.com/l/_rbWZCwODdLHO

B.Kingdom <— Division < Order <

Class < Family <— Genus <— Species

C.Kingdom — Division — Order —

Class — Family — Genus — Species

D.Kingdom — Division — Class —

Order — Family — Genus —

Species

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_rbWZCwODdLHO
https://dl.doubtnut.com/l/_eKoTEwaUnK0K

159. Select the correct statement

A. Biological names are generally in Greek

and written in italics

B. Family comprises a group of related

species which has more characters in

common

C.Triticum aestivum comes under the

order sapindales


https://dl.doubtnut.com/l/_eKoTEwaUnK0K

D. Families like convolvulaceae and

solanaceae are included in the order

polymoniales mainly based on floral

characters.

Answer: D

o Watch Video Solution

160. Select the correct hierarch for Homo

erectus


https://dl.doubtnut.com/l/_eKoTEwaUnK0K
https://dl.doubtnut.com/l/_BLLQN57Xtpnd

A.erectus — Homo — primata

chordata — animalia

B.Homo — erectus —

chordata — animalia

primata

C.Homo — erectus — primata

animalia — chordata

D.erectus — Homo — animalia

primata — chordata

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_BLLQN57Xtpnd

161. Which of the four names is correctly

written as per rules of binomial nomenclature

A. Solanum Melongena

B. Salanum melongena

C. Solanum Melongena

D. Salanum melongena

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_BLLQN57Xtpnd
https://dl.doubtnut.com/l/_gjdmYZD7fdCN

162. Which of the following is correctly

matched with its particular taxonomic

category

A. Triticum aestivum - Species

B. Fishes - Pisces - Phylum

C. Man - Primate - Family

D. Mango - Sapindales - Class

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_wgFcJ6i8HFhG

163. Who gave the nomenclature according to

which humans are called Homo Sapines

A. Darwin

B. Mendel

C. Aristotle

D. Linnaeus

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_FVpSFYKCom5L
https://dl.doubtnut.com/l/_Qbv4r5HbGIha

164. Which is the highest in the hierarchy of

taxonomic categories

A. Genus

B. Family

C. Order

D. Class

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Qbv4r5HbGIha

165. Which is the order of Tulsi

A. Laminaceae

B. Lamiales

C. Polaes

D. Sapindales

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_7szO9MeIYzWJ

166. Plant preservation centre in which the
colected plants are preserved as dry
specimens, according to any recognised
system of classification is called

A. Flora

B. Herbarium

C. Museum

D. Botanical garden

Answer: B

‘ ° Wiadk~lh \AAaA CAaliikianm



https://dl.doubtnut.com/l/_DbxlGWGx9w84

VVCILLIL VI INAGINIE ] J

167. The system of giving one name to the

individual is

A. Quasibinomial system

B. Semibinomial system

C. Mononomial system

D. Uninomial system

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_DbxlGWGx9w84
https://dl.doubtnut.com/l/_8padkCK94t9a

168. The taxonomic unit 'Phylum' in the

classification of animals is equivalent to which

hierarchial level in classification of plants ?

A. Class

B. Order

C. Division

D. Family

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_8padkCK94t9a
https://dl.doubtnut.com/l/_fAudNQSf1zpK

169. For dog, Canis refers to its

A. Genus

B. Family

C. Order

D. Class

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_fAudNQSf1zpK
https://dl.doubtnut.com/l/_s7Soqsnt4gRh
https://dl.doubtnut.com/l/_EWxJzuu6C95V

170. In a taxonomic hierarchy, the number of

common characters will increase as we go

from

A. Species to kingdom

B. Kingdom to species

C. Order to class

D. Genus from species

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_EWxJzuu6C95V
https://dl.doubtnut.com/l/_aZNxiC8jQOug

171. Identify the family belonging to order

sapindales

A. Solanaceae

B. Convolvulacae

C. Poaceae

D. Anacardiaceae

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_aZNxiC8jQOug

172. Indentify the correct sequence of

taxonomic  hierarchical arrangement in

ascending order of the following

A. spermatophyta, Sapindales,

Dicotyledons, Anacardiaceae Mangifera

B. Mangifera, Dicotyledons, Anacardiaceae,

spermatophyta, Sapindales

C. Mangifera, Anacardiaceae, Sapindales,

Dicotyledons, Spermatophyta


https://dl.doubtnut.com/l/_xyKoHakWYMUK

D. Dicotyledons, Anacardiaceae, Sapindales,

Spermatophyta, Mangifera.

Answer: C

o Watch Video Solution

173. Nomenclature is governed by certain
universal rules. Which one of the following is

contrary to the rules of nomenclature


https://dl.doubtnut.com/l/_xyKoHakWYMUK
https://dl.doubtnut.com/l/_fgoZFk3WKAyT

A. When written by hand, the names are to

be underlined

B. Biological names can be written in any

language

C.The first word in a biological name

represents the genus name and the

second is a specific epithet

D. The names are written in Latin and are

italicised

Answer: D


https://dl.doubtnut.com/l/_fgoZFk3WKAyT

° Watch Video Solution

174. Match column I with column II for
housefly classification and select the correct

option using the codes given below

Column I Column II
A. Family (i) Diptera
B. Order (ii) Arthropoda
C. Class (iii) Muscidae
D. Phylum (iv) Insecta

Aa—1v,b—1it,c— I,d— 111

B.a —1it,b— I,c—iv,d — 11

Ca—1t,b—1i,c—1v,d—1


https://dl.doubtnut.com/l/_fgoZFk3WKAyT
https://dl.doubtnut.com/l/_n9LvHVYSoLj2

D.a —iv,b—iit,c —11,d — 1

Answer: B

° Watch Video Solution

175. The label of a herbarium sheet does not

carry information on

A. Height of the plant

B. Data of collection

C. Name of collectro


https://dl.doubtnut.com/l/_n9LvHVYSoLj2
https://dl.doubtnut.com/l/_uLY9vQuCWmNm

D. Local names

Answer: A

° Watch Video Solution

176. study the four statements (A-D) given
below and select the two correct ones out of
them

(A) Definition of biological soecies was given
by Ernst mayr

(B) photoperiod does not affect reproduction


https://dl.doubtnut.com/l/_uLY9vQuCWmNm
https://dl.doubtnut.com/l/_9lvBMQabWZfE

in plants

© Binomial nomenclature system was given by
Ernst Whittaker

(D) In unicellular organisms, reproduction is
synonymous with growth

The two correct statments are

A.aandb

B.b and c

C.candd

D.a and d

Answer: D


https://dl.doubtnut.com/l/_9lvBMQabWZfE

° Watch Video Solution

177. Which of the following is correct scientific

name of wheat, derived by binomial

nomenclature

A. Triticum Vulgare

B. Triticum aestivum

C. Oryza sativa

D. Zea mays

Answer: B


https://dl.doubtnut.com/l/_9lvBMQabWZfE
https://dl.doubtnut.com/l/_WECd5p0XvR8R

o Watch Video Solution

178. Assertion: Consciousness is considered as
defining property of living organism

Reason : All organisms from prokaryotes to
most complex eukaryotes can sense and

respond to environmental stimuli

A.both are true with reason being correct

explanation


https://dl.doubtnut.com/l/_WECd5p0XvR8R
https://dl.doubtnut.com/l/_rNEvovJ6e0Rx

B. both are true but reason is not correct

explanation

C. assertion true but reson is wrong

D. both are wrong

Answer: A

° Watch Video Solution

Check Your Grasp



https://dl.doubtnut.com/l/_rNEvovJ6e0Rx

1. Constant input of energy is required

because of

A. Entropy

B. Homeostasis

C. Anabolism

D. Metabolism

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_kWyFTzIjULta
https://dl.doubtnut.com/l/_wTkgQJzPUxXC

2. Synthesis of glugcose from carbon dioxide is

an example of

A. Catabolism

B. Constructive metabolism

C. Destructive metabolism

D.Both Aand C

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_wTkgQJzPUxXC

3.Free energy is the one

A. Present free in the body roaming here

and there

B. Energy got from outside without any

effort or cost

C. Energy available for doing work

D. All the above

Answer: c

o Watch Video Solution



https://dl.doubtnut.com/l/_dJv0ru4LIirK

4. Clinical death involves

A. Stoppage of heart beat

B. Dilation of pupil

C. Absence of light reaction on pupill

D. All the above

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_dJv0ru4LIirK
https://dl.doubtnut.com/l/_TKBM6A46pJ35
https://dl.doubtnut.com/l/_npypb48f9eWZ

5. Formation of glycogen from glucose is an

example of

A. Catabolism

B. Polymerisation

C. Dehydration synthesis

D. Both B and C

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_npypb48f9eWZ

6. When the holotype is not mentioned in the

original material, which is used as type

specimen

A. Paratype

B. Lectotype

C. Neotype

D. Syntype

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_7KPaEagEPOoc

7. The term taxon was introduced by

A. Meyer

B. Cuvier

C. Lamarck

D. Turril

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_si3PGqfKvI9N

8. The concept of biosphecies was given by

A. Meyer

B. Mayr

C. Linnaeus

D. Lamarck

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_HJXhEQg2CgDT

9. Biospecies which are difficult to separate on

the basis of morphological traits are

A. Linneons

B. Allopatric Species

C. Sibling species

D. Neontological Species.

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_Al945SARpMeI
https://dl.doubtnut.com/l/_GjZOdcxjkcO9

10. Hoboscus rosa-sinensis is a

A. Variety

B. Subspecies

C. Species with a compound

D. Supra species

Answer: A

° Watch Video Solution

11. Which one is a fertile hybrid ?


https://dl.doubtnut.com/l/_GjZOdcxjkcO9
https://dl.doubtnut.com/l/_Y5kEnt3BH9Iy

A. Mule

B. Hinny

C.Both Aand B

D. Liger.

Answer: A

o Watch Video Solution

12. Osmotroph is

A. Phagotroph


https://dl.doubtnut.com/l/_Y5kEnt3BH9Iy
https://dl.doubtnut.com/l/_CgyENT83Ofri

B. Chemoautotroph

C. Saprotroph

D. Autoroph

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_CgyENT83Ofri

